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Unit 3b Day21: Review Linear Functions
ocus Question: Am I ready for my test? Average Growth “f - Pmperly F'Ed P'g
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. The table shows the growth of one pig raised on a farm. -:.Wﬁirgh!}ﬂ;n')f}f} 3 48 92 | 137 -182_5 328 | 373
a. On the graphing calculator, make a graph of Sounce: Yaur 4-H Market Hog Project, lawa State University.

the (age, weight) data. Which variable is independent? 2\ C:)Q,
b. Is the relationship between age and weight linear or non-linear? | | o1 ¢
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c. Estimate the correlation coefficient? HOD) N €
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d. Using the points (5, 230) and (3, 140) find the slope and explam what It tells-you about the pig’s growth.
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& - Find the equation of the line using linear regression on the T1 — 84.
q\N ‘S What is the equation? What is the actual correlation coefticient?
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f. What would the pig’s weight be at 1 year old? Is this interpolation or@xtrapolation?) |\jY" 1SN ?ﬁn J—
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2. Find the equation in [function notationjfor each situation below.
a) Slopeis 'z and y intercept is (0, -3) /[ b{\ b) through the point (4, -6) with a slope @ .‘
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¢) through the points (- | 4) and (5, -8
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e. A lme with the equation 8x — 2y = 16 f. a line with the equation y -3 =
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. g. The functlon wnh the table below
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 passengers a ticketing fee of $12 as well as $0.50 for each mile traveled.
a. Wnitda functlon rel ting the coxl of the trip, c, baacd 011 th(, number of miles, n.
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b. Using your equation in part a. hnd the cost of the trip if MaLuL Imx cled 140 miles.
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c. It Maggie has $300, what is the farthest she can travel?
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2. Graph th ollowing equations or inequalities gﬂ & l-_qu > -2y + 0
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3. Let B(d) = d;___+ 200 represent the balance, B, in Coach T hompson’s lumh acwunt after d days.
a. Howm oney did Coach Thompsm@ngmally tAn his account@ruhe year? 3 Alol®
b. How much does lunchicost Jeachers every day?, 5___ % 150
c. Find the X —Intercept, at does this value rep]rg ent?
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d. Find B(12). What does it represent? - \'\51 \S DUAR
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